< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

o
N

100

oV AN LA LA AR

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >

..........

(o0 A AR LN LA AR

1 2 3
TP n (PCA to beamline)

Tt rorgiat

:TT_nngtu
—TT newStu 4
TT newstu
—TT_newStu p4

N

RS ;- -
I NI N Y N | N PO A TP O A O A (1
F 1 1 B
[ b b !
1 2 Pt - N LL L4l
o £ 0 A
F- Hes - THHA - <A

W

-2

-1

0 1 2 3
TP n (PCA to beamline)

ey

:— -é- l- - -

20 {4 { LN
111 I A
BTl (e e T

3 2 -1 0 1 2 3

TP n (PCA to beamline)

<od,> (um)

.................

[¢V LALAN RARAN RRRRN AL

if 1
1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


